

ON THE UNIFORM HARMONIC SUMMABILITY OF LEGENDRE SERIES

L.M. TRIPATHI - K.N. MISHRA

In this paper it has been established a theorem for the uniform harmonic summability of the Legendre series.

The (C, α) and (N, q_n) summabilities of Legendre series have been discussed by a number of researchers like Hobson, Chapman, Haar, Plancherel, Kogbetliantz and Tripathi, but nothing seems to have been done so far in the direction of the study of Legendre series by uniform harmonic summability method. In attempt to make an advance in this direction, in the present paper we establish the following theorem for the uniform harmonic summability of the Legendre series.

1. The Legendre series, associated with a Lebesgue integrable function in the interval defined by $-1 \leq x \leq 1$ is

$$f(x) \sim \sum_{n=0}^{\infty} a_n P_n(x), \quad (1.1)$$

where

$$a_n = \left(n + \frac{1}{2}\right) \int_{-1}^{+1} f(x) P_n(x) dx,$$

and the n -th Legendre polynomial $P_n(x)$ is defined by the following expansion:

$$\frac{1}{\sqrt{(1-2xZ+Z^2)}} = \sum_{n=0}^{\infty} P_n(x) Z^n.$$

We use the following notations:

$$\psi(t) = \psi(\theta, t) = f\{\cos(\theta - t)\} - f(\cos \theta);$$

$$\Psi(t) = \int_0^t |\psi(u)| du.$$

2. Let $u_0(x) + u_1(x) + u_2(x) + \dots$ be an infinite series, and

$$U_n(x) = u_0(x) + u_1(x) + u_2(x) + \dots + u_n(x). \quad (2.1)$$

Let $\{q_n\}$ be a sequence of constants, real or complex, and let

$$Q_n = q_0 + q_1 + \dots + q_n.$$

The sequence-to-sequence transformation

$$t_n(x) = \frac{1}{Q_n} \sum_{v=0}^n q_{n-v} u_v(x) \quad (Q_n \neq 0) \quad (2.2)$$

defines the sequence $\{t_n(x)\}$ of Nörlund means ([¹⁰], [¹⁵]) of the sequence $\{U_n(x)\}$ generated by the sequence of coefficients $\{q_n\}$.

If there exists a function $U = U(x)$, such that

$$\lim_{n \rightarrow \infty} [t_n(x) - U] = o(1) \quad (2.3)$$

uniformly in a set E , then we say that the series $\sum u_n(x)$ is summable (N, q_n) uniformly in E to the sum U .

The regularity conditions for (N, q_n) method are [⁴]

$$\lim_{n \rightarrow \infty} \frac{q_n}{Q_n} = 0 \quad (2.4)$$

and

$$\sum_{k=0}^n |q_k| = O(|Q_n|). \quad (2.5)$$

If it is assumed that $\{q_n\}$ is real, non-negative and monotonic non-increasing sequence, then the transformation defined by (2.2) is regular. Also the regularity of the method (N, q_n) implies that $Q_{n-1}/Q_n \rightarrow 1$ as $n \rightarrow \infty$.

Let us write

$$q(x) = \sum_{n=0}^{\infty} q_n x^n, \quad Q(x) = \sum_{n=0}^{\infty} Q_n x^n.$$

Now for $|x| < 1$

$$\sum_{n=0}^{\infty} Q_n x^n \quad \text{and} \quad \sum_{n=0}^{\infty} q_n x^n \equiv (1-x) \sum_{n=0}^{\infty} Q_n x^n$$

are convergent.

For $x \geq 1$, we extend the functions $q(x)$ and $Q(x)$ by linear interpolation to monotonic functions, which for $x = n$ ($n = 1, 2, \dots$) take the values $q(n) = q_n$ and $Q(n) = Q_n$ respectively.

In the special case in which

$$q_n = \frac{1}{n+1}, \tag{2.6}$$

$$Q_n \sim \log n$$

as $n \rightarrow \infty$, the Nörlund mean reduces to harmonic mean, consequently (2.3) is equivalent to

$$\frac{1}{\log n} \sum_{k=0}^n \left(\frac{1}{k+1} \right) \{ U_{n-k}(x) - U \} = o(1) \tag{2.7}$$

uniformly in a set E , in which $U = U(x)$ is bounded and we shall say that the series $\sum_{v=0}^{\infty} u_v$ is summable by harmonic means uniformly in E to the sum U .

3. The Cesàro and Nörlund summabilities of Legendre series have been discussed by a number of researchers like Hobson [6], Chapman [7], Haar [8], Plancherel [11], Kogbetliantz [8] and Tripathi [14] but nothing seems to have been done so far in the direction of the study of Legendre series by uniform harmonic summability method. To make an advance in this direction, in the present paper we establish the following theorem for the uniform harmonic summability of Legendre series.

Theorem. If $\alpha(t)$ denotes a function of t , $\alpha(t)$ and $t/\alpha(t)$ ultimately increases steadily with t ,

$$\log n = O[\alpha(Q_n)], \tag{3.1}$$

and

$$\int_0^t |f(x \pm u) - f(x)| dx = o\left[\frac{t}{\alpha(Q_\tau)} \right], \text{ as } t \rightarrow 0, \tag{3.2}$$

where $\tau = \left[\frac{1}{t} \right]$ is the integral part of $\frac{1}{t}$.

Uniformly in a set E defined in the interval $(-1, +1)$ in which $f(x)$ is bounded as $t \rightarrow +0$ then the series (1.1) is summable by harmonic means uniformly in E to the sum $f(x)$.

4. Following lemma are used in proving our theorem:

Lemma 1 [12].

$$\sum_{\nu=1}^n (2\nu+1) P_{\nu}(x) P_{\nu}(y) = (n+1) \frac{P_{n+1}(y) P_n(x) - P_n(y) P_{n+1}(x)}{(y-x)}. \quad (4.1)$$

This identity is known as Christoffel's formula of summation.

Lemma 2. Under the condition (3.2) we have

$$\int_0^t |f\{\cos(\theta - \nu)\} - f(\cos \theta)| d\nu = o\left[\frac{t}{\alpha(Q_t)}\right] \text{ as } t \rightarrow 0, \quad (4.2)$$

where $x = \cos \theta$, $x + u = \cos \varphi$ and $\theta - \varphi = \nu$.

The proof of this lemma follows on the lines of Foa [2].

Lemma 3 [5]. If $0 < t \leq \pi$, then

$$\left| \sum_{k=0}^n \left(\frac{1}{k+1}\right) \cos(k+1)t \right| < A \left[1 + \log^+ \left(\frac{1}{t}\right) \right], \quad (4.3)$$

where A is an absolute constant.

Lemma 4 [13]. For all values of n and t

$$\left| \sum_{k=0}^n \left(\frac{1}{k+1}\right) \sin(k+1)t \right| \leq \left(\frac{\pi}{2}\right) + 1. \quad (4.4)$$

Lemma 5 [10]. For $0 \leq a < b \leq \infty$, $0 < t \leq \pi$ and any n

$$\left| \sum_{k=a}^b q_n e^{i(n-k)t} \right| < c Q_{\epsilon}, \quad (4.5)$$

where c is an absolute constant.

5. **Proof of theorem.** The n -th partial sum of the series (1.1) is

$$S_n(x) = \sum_{v=0}^n a_v P_v(x) \\ = \frac{(n+1)}{2} \int_{-1}^{+1} f(y) \frac{P_{n+1}(y)P_n(x) - P_n(y)P_{n+1}(x)}{(y-x)} dy$$

by lemma 1.

Putting $f(y) \equiv 1$, it can be easily seen that

$$1 = \frac{(n+1)}{2} \int_{-1}^{+1} \frac{P_{n+1}(y)P_n(x) - P_n(y)P_{n+1}(x)}{(y-x)} dy.$$

Therefore

$$S_n(x) - f(x) = \frac{(n+1)}{2} \int_{-1}^{+1} [f(y) - f(x)] \frac{P_{n+1}(y)P_n(x) - P_n(y)P_{n+1}(x)}{(y-x)} dy,$$

and so

$$S_{n-k}(x) - f(x) = \\ = \frac{(n-k+1)}{2} \int_{-1}^{+1} [f(y) - f(x)] \frac{P_{n-k+1}(y)P_{n-k}(x) - P_{n-k}(y)P_{n-k+1}(x)}{(y-x)} dy.$$

Let us take a positive number S , less than 1 and consider it as the sum of the two other positive numbers μ and δ . Let d be another positive number, such that $0 < d < \mu$, and μ_x and $\mu_{x'}$ be two continuous functions of x within $(-1, +1)$, which lie within the limits $d \leq \mu_x \leq \mu$, $d \leq \mu_{x'} \leq \mu$.

Therefore, for $-1 + S \leq x \leq 1 - S$, we have

$$S_{n-k}(x) - f(x) = \frac{(n-k+1)}{2} \left[\int_{-1}^{x-\mu_x} + \int_{x-\mu_x}^{x+\mu_{x'}} + \int_{x+\mu_{x'}}^{+1} \right] \{f(y) - f(x)\} \times \\ \times \frac{P_{n-k+1}(y)P_{n-k}(x) - P_{n-k}(y)P_{n-k+1}(x)}{(y-x)} dy \\ = A_{n-k}(x) + B_{n-k}(x) + C_{n-k}(x), \tag{5.1}$$

say.

Hobson [7] has shown that uniformly for $-1 + S \leq x \leq 1 - S$,

$$\lim A_{n-k}(x) = 0, \quad (5.2)$$

and

$$\lim C_{n-k}(x) = 0, \quad (5.3)$$

uniformly in the set E .

Now we suppose $x = \cos \theta$, $y = \cos \varphi$, $\theta < \theta < \pi$, $\theta < \varphi < \pi$, $1 - \delta = \cos \rho$, $1 - (\mu + \delta) = 1 - S = \cos(\rho + \sigma)$, $\theta < \rho < \frac{\pi}{2}$, $\theta < \sigma$, $\rho + \sigma < \frac{\pi}{2}$. Thus if η denotes the minimum of

$$[\arccos u - \arccos(u + \mu)]$$

for u in $(-1, 1 - \mu)$, we have on the lines of Sansone [12]

$$B_{n-k}(\cos \theta) = \frac{(n-k+1)}{2} \int_{\theta-\eta}^{\theta+\eta} \{f(\cos \varphi) - f(\cos \theta)\} \times \\ \times \frac{[P_{n-k+1}(\cos \varphi) P_{n-k}(\cos \theta) - P_{n-k}(\cos \varphi) P_{n-k+1}(\cos \theta)]}{(\cos \varphi - \cos \theta)} \sin \varphi d\varphi,$$

in which $\rho + \sigma \leq \theta \leq \pi - (\rho + \sigma)$; $\theta < \eta \leq \sigma$.

With successive transformation we obtain

$$B_{n-k}(\cos \theta) = D_{n-k}(\theta) + E_{n-k}(\theta), \quad (5.4)$$

say, where

$$D_{n-k}(\theta) = \frac{1}{2\pi \sqrt{\sin \theta}} \int_{\theta-\eta}^{\theta+\eta} \frac{f(\cos \varphi) - f(\cos \theta)}{\sin \frac{1}{2}(\theta - \varphi)} \sin(n-k+1)(\theta - \varphi) \sqrt{\sin \varphi} d\varphi,$$

and obviously

$$E_{n-k}(\theta) = o(1), \quad (5.5)$$

as $n \rightarrow \infty$, uniformly when x lies within $(-1 + S, 1 - S)$ i.e. in the set E .

Putting $(\theta - \varphi) = t$, we get

$$D_{n-k}(\theta) = \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\pi \frac{f\{\cos(\theta - t)\} - f(\cos \theta)}{\sin \frac{1}{2} t} \times \\ \times \sin(n - k + 1) t \sqrt{\sin(\theta - t)} dt, \tag{5.6}$$

so we have from (5.1) to (5.6)

$$S_{n-k}(x) - f(x) = \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\pi \frac{f\{\cos(\theta - t)\} - f(\cos \theta)}{\sin \frac{1}{2} t} \times \\ \times \sin(n - k + 1) t \sqrt{\sin(\theta - t)} dt + o(1).$$

Since $f(x)$ is bounded on the set E , so $o(1)$ will tend to zero for any x uniformly in E .

Now

$$\frac{1}{\log n} \sum_{k=0}^n \frac{1}{(k+1)} \{S_{n-k}(x) - f(x)\} = \\ = \frac{1}{\log n} \sum_{k=0}^n \frac{1}{(k+1)} \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\pi \frac{f\{\cos(\theta - t)\} - f(\cos \theta)}{\sin \frac{1}{2} t} \times \\ \times \sin(n - k + 1) t \sqrt{\sin(\theta - t)} dt + o(1)$$

uniformly in E ,

$$= \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\pi [f\{\cos(\theta - t)\} - f(\cos \theta)] \sqrt{\sin(\theta - t)} \times \\ \times \frac{1}{\log n} \sum_{k=0}^n \frac{1}{(k+1)} \frac{\sin(n - k + 1) t}{\sin \frac{1}{2} t} dt + o(1),$$

uniformly in E ,

$$= O \left[\int_0^\pi |\psi(t)| |N_n(t)| dt \right] + o(1),$$

uniformly in E ,

$$= O \left[\int_0^{n^{-1}} |\psi(t)| |N_n(t)| dt \right] + O \left[\int_{n^{-1}}^\pi |\psi(t)| |N_n(t)| dt \right] + o(1),$$

uniformly in E ,

$$= O(I_1) + O(I_2) + o(1), \quad (5.7)$$

say, where

$$N_n(t) = \frac{1}{\log n} \sum_{k=0}^n \frac{1}{(k+1)} \frac{\sin(n-k+1)t}{\sin \frac{1}{2}t}.$$

In order to prove our theorem, we have to show that, under our assumptions

$$I_1 = o(1) \text{ and } I_2 = o(1)$$

as $n \rightarrow \infty$, uniformly in the set E .

Now uniformly in $0 < t \leq \frac{1}{n}$

$$N_n(t) = O(n),$$

so

$$\begin{aligned} I_1 &= \int_0^{n^{-1}} \Psi(t) N_n(t) dt \\ &= O \left[n \int_0^{n^{-1}} |\Psi(t)| dt \right] \\ &= o \left[n \frac{1}{n} \frac{1}{\alpha(Q_n)} \right] \\ &= o(1) \end{aligned} \quad (5.8)$$

as $n \rightarrow \infty$ uniformly in E .

In order to show that $I_2 = o(1)$, uniformly in E , we require a suitable estimation for the kernel $N_n(t)$, in the interval (n^{-1}, η) .

Since

$$\begin{aligned} N_n(t) &= \frac{1}{\log n \sin \frac{1}{2}t} \left[\sin(n+2)t \sum_{k=0}^{n-1} \frac{\cos(k+1)t}{k+1} - \right. \\ &\quad \left. - \cos(n+2)t \sum_{k=0}^n \frac{\sin(k+1)t}{k+1} \right], \end{aligned}$$

by using lemma 3 and 4, we get

$$\begin{aligned} N_n(t) &= O \left[\frac{1}{t \log n} \left\{ 1 + \log^+ \left(\frac{1}{t} \right) \right\} \right] \\ &= O \left[\frac{1}{t \log n} \log \left(\frac{1}{t} \right) \right], \end{aligned}$$

because $\log^+ \left(\frac{1}{t} \right) = \log \left(\frac{1}{t} \right)$ for every $t \in (n^{-1}, \eta)$.

Therefore

$$\begin{aligned}
 I_2 &= \int_{n^{-1}}^{\eta} \psi(t) N_n(t) dt = \\
 &= O \left[\int_{n^{-1}}^{\eta} |\psi(t)| |N_n(t)| dt \right] = \\
 &= O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} |\psi(t)| \left| \frac{1}{t} \log \frac{1}{t} \right| dt \right] = \\
 &= O \left[\frac{1}{\log n} \left\{ \psi(t) \frac{1}{t} \log \frac{1}{t} \right\}_{n^{-1}}^{\eta} \right] + O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \psi(t) \frac{\left(1 + \log \frac{1}{t}\right)}{t^2} dt \right] \\
 &= J_1 + J_2 \text{ say.}
 \end{aligned}$$

Now

$$\begin{aligned}
 J_1 &= O \left[\frac{1}{\log n} \left\{ \psi(\eta) \frac{1}{\eta} \log \frac{1}{\eta} \right\} \right] + O \left[\frac{1}{\log n} \psi \left(\frac{1}{n} \right) n \log n \right] = \\
 &= J_{1.1} + J_{1.2} \text{ say,}
 \end{aligned}$$

$$\begin{aligned}
 J_{1.1} &= O \left[\frac{1}{\log n} \left\{ \eta \cdot \frac{1}{\alpha Q \left(\frac{1}{\eta} \right)} \frac{1}{\eta} \alpha Q \left(\frac{1}{\eta} \right) \right\} \right] \\
 &= o \left[\frac{1}{\log n} \right] \\
 &= o(1)
 \end{aligned}$$

as $n \rightarrow \infty$.

$$\begin{aligned}
 J_{1.2} &= O \left[\frac{1}{\log n} \left\{ \frac{1}{n} \frac{1}{\alpha(Q_n)} n \log n \right\} \right] = \\
 &= O \left[\frac{1}{\log n} \frac{\alpha(Q_n)}{\alpha(Q_n)} \right] = \\
 &= O \left[\left(\frac{1}{\log n} \right) \right] = \\
 &= o(1)
 \end{aligned}$$

as $n \rightarrow \infty$. Therefore

$$\begin{aligned}
 J_1 &= J_{1,1} + J_{1,2} = \\
 &= o(1) + o(1) = \\
 &= o(1).
 \end{aligned}$$

Again

$$\begin{aligned}
 J_2 &= O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{\psi(t)}{t^2} dt \right] + O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{\psi(t) \log \left(\frac{1}{t} \right)}{t^2} dt \right] = \\
 &= O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{t}{\alpha(Q_\tau)} \frac{1}{t^2} dt \right] + O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{t}{\alpha(Q_\tau)} \frac{1}{t^2} \log \left(\frac{1}{t} \right) dt \right] = \\
 &= o \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{\log \left(\frac{1}{t} \right)}{t \log \left(\frac{1}{t} \right) \alpha(Q_\tau)} dt \right] + o \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{1}{t} \frac{\alpha(Q_\tau)}{\alpha(Q_\tau)} dt \right] = \\
 &= O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta^{-1}} \frac{\alpha(Q_\tau)}{\alpha(Q_\tau)} \frac{1}{t} \frac{1}{\log(1/t)} dt \right] + o \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{1}{t} dt \right] = \\
 &= O \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{1}{t \log \left(\frac{1}{t} \right)} dt \right] + o \left[\frac{1}{\log n} \int_{n^{-1}}^{\eta} \frac{1}{t} dt \right] = \\
 &= O \left[\left\{ \frac{\log \log \frac{1}{t}}{\log n} \right\}_{n^{-1}}^{\eta} \right] + o \left[\left\{ \frac{\log \left(\frac{1}{t} \right)}{\log n} \right\}_{n^{-1}}^{\eta} \right] \\
 &= o(1) \tag{5.9}
 \end{aligned}$$

uniformly in E .

By virtue of (5.7) - (5.9) the theorem is completely proved.

R E F E R E N C E S

- [¹] CHAPMAN, S. : *On the summability of series of Legendre's functions*, Mathematische Annalen 72 (1912), 211-217.
- [²] FOA, A. : *Sulla sommabilità forte della series di Legendre*, Boll. Uni. Mat. (2), 5 (1943), 18-27.
- [³] HAAR, A. : *Über die Legendresche Reihe*, Rendiconti del Circolo Matematico di Palermo 32 (1911), 132-142.
- [⁴] HARDY, G.H. : *Divergent series*, Oxford 1949.
- [⁵] HARDY, G.H. and ROGOSINSKI, W.W. : *Notes on Fourier Series (IV): Summability (R_2)*, Proceedings of Cambridge Philosophical Society, 43 (1947), 10-25.
- [⁶] HOBSON, E.W. : *On the representation of a function by a series of Legendre's function*, Proc. London Math. Soc. (2), 7 (1909), 24-29.
- [⁷] : *The theory of spherical and ellipsoidal harmonic*, Cambridge 1931.
- [⁸] KOGBETLIANTZ, E. : *Über die (c, δ) Summierbarkeit der Laplaceschen Reihe für $\frac{1}{2} < \delta < 1$* , Mathematische Zeitschrift 14 (1942), 99-109.
- [⁹] McFADDEN, L. : *Absolute Nörlund summability*, Duke Math. Jour. 9 (1942), 168-207.
- [¹⁰] NÖRLUND, N.E. : *Sur une application des fonctions permutables*, Lunds Universitäs Arsskrift (2), 16 (1919), 1-10.
- [¹¹] PLACHEREL, M. : *Les problèmes de Cantor et du Bois Reymond dans la théorie de séries de polynomes de Legendre*, Annals de l' École Normale Supérieure 31 (1914), 223-262.
- [¹²] SANSONE, G. : *Orthogonal functions*, English Edition (1959).
- [¹³] TITCHMARSH, E.C. : *Theory of functions*, Oxford 1958.
- [¹⁴] TRIPATHI, L.M. : *On Nörlund summability of Legendre series*, Abstracted in Indian Science Congress (1965).
- [¹⁵] WORONOI, G.F. : *Extension on the notion of the limit of the sum of terms of an infinite series*, Annals of Mathematics 23 (1932), 422-432.

DEPARTMENT OF MATHEMATICS
BANARAS HINDU UNIVERSITY
VARANASI 221005 (INDIA)

Ö Z E T

Bu çalışmada, Legendre serisinin düzgün harmonik toplanabilirliğine dair bir teorem ispat edilmektedir.